
     

 
 

 
 

 
  

  

 

    
  

  
 

     
   

  
 

 
 

 
 

  

 
 

  
    

  
    

 

    

    
   

 
  

    

   
  

 
  

    
    
  

   

       
  

 
 

 
 

  

  
 

 
  

     
  

 
 

 
 

  

 
 
  

 
 

       
 
 

  
     



 
 

 
 

 
  

  

 

 
 

 
 

  

 
 

         
          

     
     

 
 

 
 

  

 
 

         
        
   

     
     

 

Item 
Position Item Type TEKS 

Alignment 

Maximum 
Number 
of Points 

Correct Answer(s) 

11 
Short 

Constructed 
Response 

3.11.C 1 

*A rubric is used to determine the score for a short 
constructed response. 
A correct response could be similar to the following: 
Clara went to Europe after the war ended and visited 
the country of Switzerland. 

12 Inline Choice 3.11.C 1 continues 

13 
Short 

Constructed 
Response 

3.11.C 1 

*A rubric is used to determine the score for a short 
constructed response. 
A correct response could be similar to the following: 
Clara Barton would be proud of the organization’s 
many important acts. 

14 Inline Choice 3.11.Dvi 1 with 
15 Inline Choice 3.11.Dxi 1 beautiful 
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